

①

(1) 二項定理より

$$(a+b)^n = \dots + {}_n C_r a^{n-r} b^r + \dots \quad (r=0, 1, 2, \dots, n)$$

$$\stackrel{=: z}{=} = {}_n C_0 a^n b^0 + {}_n C_1 a^{n-1} b^1 + \dots + {}_n C_r a^{n-r} b^r + \dots + {}_n C_{n-1} a^1 b^{n-1} + {}_n C_n a^0 b^n$$

 $a=1, b=-1$ と置く

$$(1-1)^n = {}_n C_0 1^n \cdot (-1)^0 + {}_n C_1 1^{n-1} \cdot (-1)^1 + \dots + {}_n C_r 1^{n-r} \cdot (-1)^r + \dots + {}_n C_{n-1} 1^1 \cdot (-1)^{n-1} + {}_n C_n 1^0 \cdot (-1)^n$$

$$= {}_n C_0 - {}_n C_1 + {}_n C_2 - \dots + (-1)^n {}_n C_n$$

$$0 = {}_n C_0 - {}_n C_1 + {}_n C_2 - \dots + (-1)^n {}_n C_n$$

よって

$$\therefore {}_n C_0 - {}_n C_1 + {}_n C_2 - \dots + (-1)^n {}_n C_n = 0$$

(2) 二項定理より

$$(a+b)^n = \dots + {}_n C_r a^{n-r} b^r + \dots \quad (r=0, 1, 2, \dots, n)$$

$$= {}_n C_0 a^n b^0 + {}_n C_1 a^{n-1} b^1 + \dots + {}_n C_r a^{n-r} b^r + \dots + {}_n C_{n-1} a^1 b^{n-1} + {}_n C_n a^0 b^n$$

 $\stackrel{=: z}{=} =$ $a=1, b=-2$ と置く

$$(1-2)^n = {}_n C_0 1^n \cdot (-2)^0 + {}_n C_1 1^{n-1} \cdot (-2)^1 + {}_n C_2 1^{n-2} \cdot (-2)^2 + \dots + {}_n C_n 1^0 \cdot (-2)^n$$

$$(-1)^n = {}_n C_0 - 2 \cdot {}_n C_1 + 2^2 \cdot {}_n C_2 - \dots + (-2)^n \cdot {}_n C_n$$

$$\therefore {}_n C_0 - 2 \cdot {}_n C_1 + 2^2 \cdot {}_n C_2 - \dots + (-2)^n \cdot {}_n C_n = (-1)^n$$